B ERAND-REREHFABERBRER £2R HIEEH 8 B

X =]
1L—R 13 L2 20215F9A6H(A) - =2 MRS - xers (FFE-TR)
1R ..4.5.3.2.1.6 800m
RE el = | 2 = : RE ol =] 2 B i
5 £ miE| iiil # = |5 F| 2 14 L || ERE|BHES| B & e 5 % miE| m % = |5 F| 2 14 L |HKE| ERE|BHES| B &
EEE e = EEE |8 =
. widl | 2| m |v5 SvrURrubk
= 7 V] ¥3 z [ 54| BREF 50.3|H™IE| 458 1
355 | * 7 B—Y—F—0Z
el B 2 45 ARASR=—%
assnk=—45 (95| |2 T~ 54| B | 50.3|/hEHE| 446 2
eI 4 45 AAZINT—F—
_ BER— | 2| gl droEox N
E+r75L i z 54| %& 50.1|BHIE| 476 3
EEIAYE Lig 45 FAVIATV
R MEExE 2 ¥5 By 7—H—
£y F—h g~ B sa| 3t | 492|HHEE| 486 4
FRS5Y %t 45 F—hZ07—
_ EHTE | 2| g |5 TOTTORTILR
RFA—IAAY— | B3| |2 ———— 54| &1 | 49.7|A)IF| 498 | 138 5
NG o ¥5 RN L) =
_wEEgl |2 [ & oo ) .
vakaq/EI ¥ FE —— 54| R 03.1|#i#EsF| 512 6
P oA H| |95 T4080T4—X
7
8
2R . 3.2.1 1000m
FE gl E | 2 = _ Pl gl E | 2 4 i
5 % R, Mm% = |8 F|2 4 L |A%E| ERE|BRER| K & % 5 £ SAE| m % = |8 F| 2 4 L |A%E| ERE|FRES| K &
EEE e = EEE | =
SIS 3 5 AL g LYL
b—7a—ux (5| BT eg| m | 1.104|1£4<@| 512 ofseat—r| |1
h—7 k18 o 45 EVOI7IRT—
TR | 3| g [v7 PRRAYL—Y B
I—XRATI—R |H¥5 = — 56| WA [ 1.04.2|%FHHK| 542 250 2
F LSS T — LR 4t 435 FI—
BBk 3| & [y porFIvRTLR . .
Tyiadr7eILT | Y5 3 - 54| & | 1.041|BAHZE| 422 1,060 3
EE EA ) = |v7 RRRVEAL
4
5
6
7
8
XKEE. £EDS WM
HE2 1 L 2mE 56. 0 a a
—iE HHES 4005 1.05.0 : 400BLLFT 1.06.0 200BLLF 1.07.0 : 80FKXLLT 1.08.0 KHEFERE 1.09.0
SEmEHE HBHESL 2005# 1.06.0 : 200B5LLF 1.07.0 FEF| 1.08.0 : RHHEE 1.09.0



